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Questions VI-1

Base the answers to the following ques-
tions, 1 and 2, on the potential diagram
and reaction shown.

1 Compared to thef
the forward reaction, the activation

z))ergy of the reverse reaction is: Reaction Coordinate >
less A+B—p
(2) greater <94——C+D
(3) the same
2 Compared to the potential energy of the(activated complex bf the forward
reaction, the potential energy of the activated complex of the reverse
reaction is Nﬁ‘ ?
(1) less (2) greater @ the same {;qm
3 Asthe f a chemical reaction increases, th ction: oy d }
()} decreases (O) increases (3) remains the sgame # 4%t /veNa
4 othermic reaction?

Which diagram shows the potentia] energy of/
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5 Which will occur if q.ﬂ- added to a reaction mixture?
@ the activation energy be changed J fa
Bat fh, b & AH
rts,

Reaction
()] Coordmnu 2) Coordlmtc Coordinate

(2) only the rate of the forward reaction will be increased
(3) only the rate of the reverse reaction will be increased
(4) the energy charge (AH) of the reaction will be decreased

{ BH= Ho-the = Eap — f-a,f Refen fo DIAG forn @,
etween the(activation energyof

vation energy)of thefre gaction is

In a reversible reaction, the(difference)
thaction and the(s

equal to the

(1) activation complex (3) potential energy of reactants
@ heat of reaction (A‘/) (4) potential energy of products

7  If the(Concentration)of one of the reactants in a chemical reaction is 1
increase Tate pf the reaction usually: f ggM;y
(1) decreases increases  (3) remains the sam
8 In a chemical reaction, the use of a(catalyst)usually results ina decrease
in the:
@ activation energy
(2) potential energy o the reactants B l/
(3) heat of reaction
(4) amount of products
9 Ins system, temperature remaining constant, an increase in
pressure will:
Increase activation energy @) increase reaction rate
(2) decrease activation energy (4) decrease reaction rate
— > \ ! ’ [ess spece,
) rore col/l/sions

10 The graph on the right represents the
potential energy changes that occur in
a chemical reaction. Which letter
Gy rasents the acivated copplex?
1).4

o L
2 T oF fhu
A = Reacranrs ¢ = Mo, o
Base your answer to questions 11
on ’tlhe potential energy diagram at the
right

11 The reaction
A(g) +B(g) —~ C(x)+D(g)*30k
has a (orward@ctivation energyo
What is the activation energy
for the reverse reaction? X

(1) 10 kcal (3) 30 keal
(2) 20 keal @ 50 keal
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30 + 20 = 50

12 The potential energy of the activated complex is equal to the sum of:
4 X+W+12Z

1) X+Y Q@ X+W

Base your answers to the following
questions, 13 (below) and 14 (next page), on
the diagram at the right.

13 The(activation energy)for the reverse

reaction is represented by
D 3sa
3 3= At‘f

@ i=6,

14 '%‘he@eat of reaction (AH))is represented by:
© 3

(2) 2

@) activation energy
(2) heat of reaction 'l a

6 Consider the reaction: HyO() %
Which phrase best describesThis
(1) exothermic, releasing
(2) exothermic, absefbing energy
(3) endptiermic, releasing energy
@ endothermic, absorbing energy

3) X+Y+W

Reaction Coordinate —§»

4) 4

15 The effect of a(catalysbon a chemical reaction is to change the:
(3) potential energy of the product
(4) potential energy of the reactant

Hy(®) + ¥202(p).



